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DNA RNA
It is double stranded nucleic acid. It is single stranded nucleic acid.

It contains deoxyribise sugar. It contains ribose sugar. @ W'dw\ (0'{ OUMVIJ‘VD Q{M MX = QQ '4_ - RVDM
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It contains Thymine (T) as a nitrogenous

It contains Uracil (U) instead of Thymine.
base.

It is the genetic and hereditary material of | . . . . - X- \ 1’\ ‘ )
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It is present in the nucleus of the cells. It is present in both nucleus and cytoplasm. ‘/()3\"'
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Sugar-Phosphate = : . g
Backbones The two strands are antiparallel 1.e., one strand runs 1n the 5 to

3 direction while the other in 3” to 5° direction.

The two polynucleotide chains are not 1dentical but
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Each strand of DNA has a hydrophillic deoxyribose phosphate
backbone on the outside(periphery) The two strands are held
together by hydrogen bonds formed by complementary base

pairs. The A-T pair has 2 hydrogen bonds while the C-G pair has
3 hydrogen bonds. The G-C 1s stronger by about 50% than A-T.

The hydrogen bonds are formed between a purine and
pyrimidine only. The only base arrangement possible in DNA
structure 1s A-T, T-A , G-C, C-G.
DNA Ladder The genetic information resides on one of the two strands known
as template strand or sense strand. The opposite strand 1s
antisense strand.




